EOCT Review
Part 1

Below are the standards that we will cover as part of today’s review. You need to review these standards and make sure that you are familiar with concept or idea connected to each of them.

SSEF1 The student will explain why limited productive resources and unlimited wants result in scarcity, opportunity costs, and trade-offs for individuals, businesses, and governments. 
a. Define scarcity as a basic condition that exists when unlimited wants exceed limited 

    productive resources. 

b. Define and give examples of productive resources (e.g., land (natural), labor (human), 

    capital (capital goods), entrepreneurship). 

c. List a variety of strategies for allocating scarce resources. 

d. Define opportunity cost as the next best alternative given up when individuals, 

    businesses, and governments confront scarcity by making choices. 

SSEF2 The student will give examples of how rational decision making entails comparing the marginal benefits and the marginal costs of an action. 
a. Illustrate by means of a production possibilities curve the trade-offs between two 

    options. 

b. Explain that rational decisions occur when the marginal benefits of an action equal or 

    exceed the marginal costs. 

SSEF3 The student will explain how specialization and voluntary exchange between buyers and sellers increase the satisfaction of both parties. 
a. Give examples of how individuals and businesses specialize. 

b. Explain that both parties gain as a result of voluntary, non-fraudulent exchange. 

EOCT Content Descriptors

On the EOCT, students will be required to show an understanding or be able to apply the following concepts related to the above standards.

- importance of scarcity to the study of economics

- differences between economic wants and economic needs

- importance and characteristics of natural, human, and capital resources

- role of entrepreneurs in production and distribution

- reading and interpreting scenarios, tables, production possibility curves, and graphs related to opportunity costs (trade offs)

- unequal distribution of natural resources and its economic implications

- strategies used to reallocate unequally distributed natural resources

- reasons for and significance of specialization

- identifying and analyzing examples of specialization

- reasons for and benefits of voluntary exchange

Now that you know what is required, let’s take a minute to break down each standard and corresponding content descriptor and refresh our memory of both the content and the application.

Concept 1: Scarcity
Standard: 

Define scarcity as a basic condition that exists when unlimited wants exceed limited     productive resources.

Content Descriptor(s): 

- importance of scarcity to the study of economics

- differences between economic wants and economic needs

What to know: 


Scarcity is the central problem in economics. Scarcity can be defined as the problem that arises because humans have unlimited wants but the resources used to fulfill those wants are limited (limited resources v. unlimited wants). In other words, people want everything, but there is not enough of everything to go around. Wants are different than needs. Needs are required to sustain life, wants are things we would like to have.
Practice Questions:

(1) Ranchers in Wyoming are having trouble finding enough cattle wranglers (workers) to help maintain their herds of cattle.

What scarce resource listed above is causing problems for ranchers in Wyoming?

A   water

B   land

C   labor

D   cattle

(2) This economic concept refers to the basic condition that exists when unlimited wants exceed limited productive resources.

A   shortage

B   opportunity cost

C   scarcity

D   productivity

(3) Explain the difference between a want and a need. Give an example of each. ______________________________________
_______________________________________________________________________________________________________

Concept 2: Resources
Standards: 

Define and give examples of productive resources (e.g., land (natural), labor (human), capital (capital goods), entrepreneurship). 

Content Descriptor(s): 

 - importance and characteristics of natural, human, and capital resources

 - role of entrepreneurs in production and distribution

What to know: 


Resources are anything that people can use to make or obtain what they want. Examples of resources include money, time, tools, skills, equipment, etc… Resources can be categorized into the four factors of production. The factors of production include land, labor, capital, and entrepreneurship. Land includes all resources found in nature, such as water, trees, sunshine, or soil. Labor is the work that people do, such as a mechanic, a doctor, a teacher, or a factory worker. Capital is the man-made resources used in the production process, such as computers, machinery, tools, or money. Entrepreneurship is the ability of an individual to organize resources toward the goal of making a profit. Examples of entrepreneurs include CEOs, small business owners, or the president of a corporation. Entrepreneurs decide what products are produced and who they are sold to. This function is very important in a market economy.
Practice Questions:

 (1) Ranchers in Wyoming are having trouble finding enough cattle wranglers (workers) to help maintain their herds of cattle.

What is the ranchers’ role in the above example?

A   capital
B   land

C   labor

D   entrepreneur
(2) In order to be successful, an entrepreneur must understand how to acquire and organize many different types of
A   costs
B   opportunity costs
C   resources
D   currencies
(3) Describe the four factors of production. Give an example of each. __________________________________________________

_________________________________________________________________________________________________________

Concept 3: Opportunity Cost

Standards: 

Define opportunity cost as the next best alternative given up when individuals, businesses, and governments confront scarcity by making choices. 
Illustrate by means of a production possibilities curve the trade-offs between two options. 

Content Descriptor(s): 

 - reading and interpreting scenarios, tables, production possibility curves, and graphs     

 related to opportunity costs (trade offs)

What to know: 


Opportunity Cost is the next best alternative in the decision making process. Economists use opportunity cost to show the value of other possibilities. Production possibility curves illustrate the opportunity cost of choosing one item to produce over another.
Practice Questions:

(1) An individual decides to pay $8 to see a movie instead of buying an $8 meal. What is the opportunity cost of the movie?

A   the satisfaction missed by not eating the meal

B   the $8 paid to see the movie

C   the time spent watching the movie

D   the satisfaction received by going to the movie

(2) Mike decides to buy a new car with his graduation money instead of using it to pay for college. What is Mike’s opportunity cost for buying the new car? ________________________

(3) The government decides to buy more bombs for the military. The money spent could have been used to build museums in every major city. What is the government’s opportunity cost for buying more bombs? ___________________________________________________________
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Concept 4: Rational Choice and Voluntary Exchange
Standards: 

Explain that rational decisions occur when the marginal benefits of an action equal or 

exceed the marginal costs. 
Explain that both parties gain as a result of voluntary, non-fraudulent exchange.
Content Descriptor(s): 

 
- reasons for and benefits of voluntary exchange

What to know: 


Rational Choice is simply making good decisions by weighing the benefits and the costs. This means that the individual actually thinks and weighs all options and chooses the option with the greatest benefits at the lowest cost. Voluntary Exchange is the freedom for producers and consumers to trade money for goods and services. Both producers and consumers gain from voluntary exchange, because producers make the products that consumers want and in return the producers make a profit. 
Practice Questions:

(1) Applying the concept of rational choice: If the number of highway patrol vehicles increases so that there is a greater probability of being caught speeding, what do you think will happen to the number of drivers exceeding the speed limit?

A   It will increase because costs have increased.

B   It will increase because benefits have increased.

C   It will decrease because costs have increased.

D   Both A and C.

(2) Amber earns $150 per hour to work as a scientist for a large pharmaceutical company in Atlanta. Amber needs her gutters cleaned, which will take three hours. Sarah is a dung shoveler working for Bobby’s House of Dung. She also needs her gutters cleaned, which will also take three hours. Philip is willing to clean gutters for both Amber and Sarah for $10 an hour. In the space provided below, decide whether Amber and/or Sarah would benefit from paying Philip to clean their gutters. Be sure to explain your answer.

_______________________________________________________________________________________________________

(3) Explain how, in the previous example, both Philip and his customer(s) might both benefit from voluntary exchange.

_______________________________________________________________________________________________________

Concept 5: Specialization

Standards: 

Give examples of how individuals and businesses specialize.

Content Descriptor(s): 

 
- reasons for and significance of specialization

- identifying and analyzing examples of specialization

What to know: 


Specialization is the focusing of resources on specific tasks to increase productivity and efficiency. Businesses focus on producing a single good or service. Individuals focus on mastering a particular skill (mechanic, doctor). Nations (through comparative advantage) focus on producing the products for which they have the lowest opportunity cost.
Practice Questions:

(1) Saudi Arabia uses all of it resources to produce oil and trades oil to get what it needs from other nations. Focusing so much energy on oil production has led Saudi Arabia to become very efficient at producing oil. What basic economic concept do these statements support?

A   opportunity cost

B   scarcity

C   productivity

D   specialization

(2) Wal-Mart opens a new store in Franklin. They hire seventeen (17) employees to operate the store during official store hours. The store is divided into different sections that include sections for clothing, electronics, furniture, toys, auto supplies, gardening, and a pharmacy. There are also three cash registers at the front, along with a return counter. Using the space provided below, use the concept of specialization to organize the employees to maximize efficiency.

________________________________________________________________________________________________________

(3) Explain how specialization can make individuals, businesses, and nations more efficient? 
_________________________________________________________________________________________________________

_____________________________________________________________________________
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